o EAH AH|7 R (A SHLHH]) 4.8% &5
- HAZ-HCHH] +4.8% = 2012 7|01 & -4.4%p + SH=H-FAHYC| 7]0 & +9.2%p
(ZFA=H 7|0 2= 7k AAZ2H 7|of& X AH|7A7|R |45 27405, AH|737(9| 27H52 =2H 7|0 £ 20| £T)
X ERAHEEEF=OD =R
o — A o A
o (MAZHCHH]) A0i] AH|Z7I|46.4% S12f, SH-SAIHA AH[Z7 IR 297% 45

| M =
- EAI ATHOIS U SI2IHT 0|49 ALY -49.9% > 4% -359%), UR(3Y -33.0% > 4% -
2999%), 7P E A BEA(3Y 99% = 4% 78%) 52| SI2HE 7Ac 2a92kofH320%), ST

1 O Hd
OH(1.7%) 50| 37 M= HEgtoll = 275100 AT AB7E7 [R5 SiEkM| {2| 55| Mg A & -+t
A Mz Aol GeHMlE HER = FHEADN(-122%)7 571E A<LC 2 Bf2f

- EARL £51-SAYIOl AFSTIION, 922 (MYUBCH I Lo SAMEBY -58% o 4%
19.10), 27 HTHEH (3Y -35% > 4% 144%)0] A2 71

| EAI

e 2|77 2

129.9

125.6
119
g 120- -40
(@)
(@]
1l
=~ 22.8% 23.9% _ o
S 100- O i
& 100 16.6% 20 g o ZARIA
<k Y cenT
< [
%0 5.2% 4.8% S m ETRRNESE)
Ry 1 m - s
’ [ | )
-3.2%
2149114 214912 224014 224 024 223034 221048
C A oy A C Al AHEO o A
| £ A AH[ZE7]R]| | B4 g8k-SAHY AH[7E7(R |
140- _40
g 135
O —_
= ra S - ra
N 130- 30 Ty = 100 i
~ O L Off
(=] [} — InY
e £ I =
E o 120- 20 33 = =
[ad < A =
3 ) 38%
o 10 R0 29.7%
. 3.4% I 20.6%
100" - - -0 8.3%
-1.4% I . - -0
-6.4%
-8.4%
@11 218128 2H01E 2umE 2EmY 2Em 219118 219128 2W01Y 22U 2um)E 2dme
® Z4X= W TESE| (MASZH|= 25Rp0) ® Z8X|= HEASE| (MAZH =R o)

MEaH[E7 K5 5





